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— -~ Selected year-end financial statements of Cadet Corporation follow. (All sales were on credit; selected balance sheet
amounts at December 31, 2008, were inventory, $56,900; total assets, $219,400; common stock, $85,000; and retained
earnings, $52,348.)

CADET CORPORATION : : CADET CORPORATION
Income Statement ol : : Balance Sheet
For Year Ended December 31, 2009 December 31, 2009

Sy oo T $456,600 Assets Liabilities and Etjuity

Cost of goods sokd .. . ..... 297,450 .5 RPN R ARG W R Gl 07 4 2.6 ) Accounts payable .................. $ 21,500
T St Short-term investments ... ...... 8,200 Agccried wages payable .. ............ 4,400

SRR = w2 o < B33 i Accounts receivable,net ........ 29.400 Income taxes payable . ............... 3,700

Oparating axpenaes ... ... .. YIADD Notes receivable (trade)* ........ 7.000 Long-term note payable, secured

Interest expense .......... 3,900 Merchandise inventory . . .. ... ... 34150 by mortgage on plant assets . ........ 67,400

Income before taxes ....... 55,850 Prepaid expenses . . ... ... ...... 2.700 Cammee oK 77 .. « cann s vavessis g b g 85,000

Income taxes . ............ 22,499 Plant assets, NeC . . ..o v vns e e vns 147300 Retained earnings . ................. 66,750

Netincome .............. $ 33,351 TOERE B .t e R e $248,750 Total liabilities and equity . ............ $248,750

* These are short-term notes receivable arising from customer (trade) sales.

Required

Compute the following: (1) current ratio, (2) acid-test ratio, (3) inventory turnover, (4) debt-to-equity ratio, (5) times interest
earned, (6) profit margin ratio, (7) total asset turnover, and (8) return on total assets.

— ~Patica Co. began operations in 2008. The cost and market values for its long-term investments portfolio in available-for-sale

securities are shown below. Prepare Patica’s December 31, 2009, adjusting entry to reflect any necessary market
adjustment for these investments.

Cost Market Value
December 31, 2008 $67,842 $61,736
December 31, 2009 73,479 77,888

= ~» Walsh Company deposits all cash receipts on the day when they are received and it makes all cash payments by check. At
the close of business on May 31, 2009, its Cash account shows a $7,750 debit balance. Walsh’s May 31 bank statement shows
$6,900 on deposit in the bank. Prepare a bank reconciliation for Walsh Company using the following information.

a. May 31 cash receipts of $1,100 were placed in the bank’s night depository after banking hours and were not recorded on the
May 31 bank statement.

b. Outstanding checks as of May 31 total $800.

c. The May 31 bank statement included a $50 debit memorandum for bank services; Walsh has not yet recorded the cost of
these services.

d. In reviewing the bank statement, a $200 check written by Wald Company was mistakenly drawn against Walsh’s account.

e. A debit memorandum for $300 refers to a $300 NSF check from a customer; Walsh has not yet recorded this NSF check.
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79 ~ A partial adjusted trial balance of Sila Company at January 31, 2011, shows the following.

Sila Company
Adjusted Trial Balance
January 31, 2011

Debit Credit
Supplies $ 850
Prepaid Insurance 2,400
Salaries Payable $ 800
Unearned Revenue 750
Supplies Expense 950
Insurance Expense 400
Salaries Expense 1,800
Service Revenue 2,000

Instruction :

Answer the following questions, assuming the year begins J anuary 1.

(a) If the amount in Supplies Expense is the January 31 adjusting entry, and $500 of supplies was purchased in January, what
was the balance in Supplies on January 1 ?

(b) If the amount in Insurance Expense is the January 31 adjusting entry, and the original insurance premium was for one year,
what was the total premium and when was the policy purchased ?

(c) If $3,500 of salaries was paid in January, what was the balance in Salaries Payable at December 31, 2010 ?

(d) If $1,600 was received in January for services performed in J anuary, what was the balance in Unearned Revenue at
December 31, 2010 ?
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